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r e s t a r t ;
eqns := [x [1 ]^3+x [1 ]^2*x [2 ] -x [1 ] *x [3 ]+6 ,
       e x p ( x [ 1 ] ) + e x p ( x [ 2 ] ) - x [ 3 ] ,
       x [ 2 ] ^ 2 - 2 * x [ 1 ] * x [ 3 ] - 4 ] ;

w i t h ( l i n a l g ) :
F :=eva l f ( vec to r (eqns ) ) ;

X : = [ s e q ( x [ i ] , i = 1 . . 3 ) ] ;

J := jacob ian (F ,X ) ;

with(CodeGeneration);

C ( F ) ;
F [ 0 ]  =  p o w ( x [ 0 ] ,  0 . 3 e 1 )  +  p o w ( x [ 0 ] ,  0 . 2 e 1 )  *  x [ 1 ]  -  0 . 1 e 1  *  x
[ 0 ]  *  x [ 2 ]  +  0 . 6 e 1 ;
F [ 1 ]  =  e x p ( x [ 0 ] )  +  e x p ( x [ 1 ] )  -  0 . 1 e 1  *  x [ 2 ] ;
F [ 2 ]  =  - 0 . 2 e 1  *  x [ 0 ]  *  x [ 2 ]  +  p o w ( x [ 1 ] ,  0 . 2 e 1 )  -  0 . 4 e 1 ;

C ( J ) ;
J [ 0 ] [ 0 ]  =  0 . 3 e 1  *  p o w ( x [ 0 ] ,  0 . 2 e 1 )  +  0 . 2 e 1  *  x [ 0 ]  *  x [ 1 ]  -  
0 . 1 e 1  *  x [ 2 ] ;
J [ 0 ] [ 1 ]  =  p o w ( x [ 0 ] ,  0 . 2 e 1 ) ;
J [ 0 ] [ 2 ]  =  - 0 . 1 e 1  *  x [ 0 ] ;
J [ 1 ] [ 0 ]  =  e x p ( x [ 0 ] ) ;
J [ 1 ] [ 1 ]  =  e x p ( x [ 1 ] ) ;
J [ 1 ] [ 2 ]  =  - 0 . 1 e 1 ;
J [ 2 ] [ 0 ]  =  - 0 . 2 e 1  *  x [ 2 ] ;
J [ 2 ] [ 1 ]  =  0 . 2 e 1  *  x [ 1 ] ;
J [ 2 ] [ 2 ]  =  - 0 . 2 e 1  *  x [ 0 ] ;


